NTHERADER(BFRREFH
3FE-7RA-1E—-RAiE A =]
K4
1) ROXZRHSRLES, (2R X 10%8)

1) px+p+x+1 2) 2x2—11x+5
3) x(x—7y)—18y2 4) 4p2—121 q2
5)  (x+1)°+6(x+1)+9 6) 4x +8x+3
7 (y+3) -4y +3)+4 8) 18a —6a —24a

9) (5x+3)°+8(5x+3)—20 10) 100a°—4b’



NTHERADER(BFRREIFH
3FE—-7A—18—Kig A =]
K4
2) ROXZEHSMLESL, (2R X108

1) XX+ 2) 16a°—24ab+9b
3) 12a°—27 4) 4x°—4xy—15y°
5) 2x2+24xy+72y2 6) a(x+2)—(x+2)
7)  mx —4mx+3m 8) (x+4)(x—9)+5x

9) ay2—2ay—8a 10) ax—ay—bx+by



NTHERADER(BFRREIFH
3F—-7RA—18—KIg A =]
K4
3) ROAZABARLESL, (2R X108

1) 2x2yz—4xy22—8xyz2 2) gaz—%ab+b2
2 2 2 2
3) (x+2y) +4(x+2y)+4 4) x —y —z —2yz
2 4 2
5) (a—b) +5(a—b)+4 6) p —3p +2
7) ab(x—y)+be(y—x) 8) (3x—1)°—9(3x—1)+20

2
9) (xX’=2x) —2(x’—2x)—3 10) x —16y"



NTHERADER(BFRREIFH
3FE—-7A—18—-KIE A =]
K4
4) ROXZEHGMLESL, (2R X 1088)

1) (3a+b)’ —(2a—3b)" 2)  (x—2)(x—5)+2
3) 2x(x—y)—4(x—y) 4) 3x2+6xy+3y2
5) 2c°+16cd+30d 6) 2ax +2ax—24a
7 8ax’—40ax_ +50ax 8) 2pa2— 1 8pb2

9) @2x+1)°—3(2x+1)—18  10) ax —12ax+36a



NTHERADER(BFRREIFH
3FE-7A-18—-&IE A =]
K4
5) ROXZHEHSMLESL, (2R X 108)

1 (x—2)°—9(x—2) 2) —9a’+12ab—4b
3) (x+Y)(x—2y)+(x+y)° 4) a(x—1)—b(1—x)
5)  (x—2y)(x—2y+2)+1 6) x +48x+14x"
7 22x—1)°—6(2x—1)—36 8) 9x +27xy—36y°

9) xz+2yz—3x—6y 10) 4a2—(a+1)2



NTHERADER(BFRREFH
3F—-7RA—-14

1) ARE—m@E (2K X10%) A =]
1) (p+Dx+1) 2) 2x—1)(x—=5) 3) (x—9y)(x+2y)

4) 2p+11a)(2p—11a) 5) (x+4)° 6) (2x+3)(2x+1)

7) (y+1’  8) 6a(Ba—4)(a+1)  9) (5x+13)(5x+1)
10) 4(5a+b)(5a—b)

2) KRE—M@E (2R X108 A B

1) S@x+1DGx+2)  2) (4a—3b)° 3) 3(2a+3)(2a—3)

4) (2x+3y)(2x—5y) 5) 2(x+6y)° 6) (x+2)(a—1)

7) m(x—3)(x—1) 8) (x+6)(x—6) 9) a(y+2)(y—4)
10) (a—b)(x—y)

3) KE—RE (2R X108) A =]
1) 2xyz(x—2y—4z) 2) %(2a—3b)2 3) (x+2y+2)2

4) (x+y+z2)(x—y—2) 5) (a—b+4)(a—b+1)

6) (p+1)(p—1)(p°—2) 7) blx—y)(a—c) 8) 3(x—2)(3x—5)

9) x+D(X=3)x=1)> 10) (x+2y)(x—2y)(x°+4y>)



NTHERADER(BFRREIFH
3FE—-7A-14

4) KE—RE (2Rx10%#) A =]
1) (ba—2b)(a+4b) 2) (x—4)(x—3) 3) 2(x—y)(x—2)

4) 3(x+y)° 5) 2(c+3d)(c+5d) 6) 2a(x+4)(x—3)

7) 2ax(2x—5)° 8) 2p(a+3b)(a—3b) 9) 2(x+2)(2x—5)
10) a(x—6)
5) SE—ME (2 x108) A B

1) (x—2)(x+1D(x—=5) 2) —(3a—2b)°  3) (x+y)(2x—y)

4) (a+b)(x—1) 5) (x—2y+1)° 6) x(x+8)(x+6)

7) 4(x+1)(2x—=7) 8) 9(x+4y)(x—y) 9) (x+2y)(z—3)
10) (3a+1)(a—1)



